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Calculating Stream order





Starting at the source of the river system the first stream would be order 1.
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Where two order 1 tributaries join, the stream below would be order 2
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Where two streams of unequal order join the stream below becomes the order of the highest tributary value.  In this example the stream would be order  2.
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When two order 2 tributaries join the resulting stream value is 3.  REMEMBER you are only adding 1 to the previous stream order and not adding the value of each joining tributary.





GOLDEN RULES





The stream value only increases where the two joining tributaries are of the SAME value.





The stream value takes the highest tributary value when the two joining tributaries are NOT the same value.
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